
K59
X  = 580994,56
Y  = 4556791,40
γ  = 32,93
R  = 30,00
Lb = 15,52
δ  = 1,03
M  = 15,52
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 7,94

K61
X  = 581012,64
Y  = 4556818,54
γ  = 34,49
R  = 79,00
Lb = 42,80
δ  = 2,99
M  = 42,80
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 21,94

K62
X  = 581029,24
Y  = 4556779,25
γ  = 28,67
R  = 30,00
Lb = 13,51
δ  = 0,78
M  = 13,51
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 6,87

K63
X  = 581066,55
Y  = 4556746,47
γ  = 135,65
R  = 14,00
Lb = 29,83
δ  = 14,92
M  = 29,83
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 25,30

K64
X  = 581075,18
Y  = 4556799,67
γ  = 32,19
R  = 50,00
Lb = 25,28
δ  = 1,64
M  = 25,28
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 12,92

K65
X  = 581055,39
Y  = 4556854,78
γ  = 72,51
R  = 40,00
Lb = 45,56
δ  = 7,50
M  = 45,56
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 25,61

K66
X  = 581099,54
Y  = 4556898,15
γ  = 17,97
R  = 150,00
Lb = 42,34
δ  = 1,51
M  = 42,34
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 21,31

K67
X  = 581138,21
Y  = 4556918,99
γ  = 62,14
R  = 30,00
Lb = 29,28
δ  = 3,97
M  = 29,28
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 15,93

L  = 0,00
Dr = 0,00
T  = 13,73

R  = 30,00
Lb = 26,57
δ  = 3,20
M  = 26,57
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 14,23

K72
X  = 581207,33
Y  = 4556940,83
γ  = 24,61
R  = 150,00
Lb = 57,99
δ  = 2,85
M  = 57,99
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 29,36

K73
X  = 581239,12
Y  = 4556882,86
γ  = 48,52
R  = 30,00
Lb = 22,86
δ  = 2,32
M  = 22,86
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 12,02

K74
X  = 581286,30
Y  = 4556867,90
γ  = 62,77
R  = 60,00
Lb = 59,16
δ  = 8,11
M  = 59,16
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 32,23

K75
X  = 581302,42
Y  = 4556811,36
γ  = 32,46
R  = 50,00
Lb = 25,50
δ  = 1,67
M  = 25,50
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 13,03

K76
X  = 581322,72
Y  = 4556791,15
γ  = 21,21
R  = 60,00
Lb = 19,99
δ  = 0,84
M  = 19,99
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 10,09

K77
X  = 581372,55
Y  = 4556689,18
γ  = 84,56
R  = 98,00
Lb = 130,18
δ  = 26,45
M  = 130,18
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 76,71

K78
X  = 581470,28
Y  = 4556710,22
γ  = 62,25
R  = 10,00
Lb = 9,78
δ  = 1,33
M  = 9,78
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 5,32

K79
X  = 581517,39
Y  = 4556664,93
γ  = 18,39
R  = 80,00
Lb = 23,11
δ  = 0,84
M  = 23,11
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 11,64

K80
X  = 581539,71
Y  = 4556653,40
γ  = 12,80
R  = 80,00
Lb = 16,08
δ  = 0,41
M  = 16,08
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 8,07

K81
X  = 581578,34
Y  = 4556622,29
γ  = 40,22
R  = 80,00
Lb = 50,54
δ  = 4,16
M  = 50,54
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 26,15

K82
X  = 581612,61
Y  = 4556620,71
γ  = 37,10
R  = 20,00
Lb = 11,65
δ  = 0,88
M  = 11,65
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 6,00

K83
X  = 581630,41
Y  = 4556607,76
γ  = 8,98
R  = 80,00
Lb = 11,28
δ  = 0,20
M  = 11,28
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 5,65

K84
X  = 581663,87
Y  = 4556590,01
γ  = 4,94
R  = 100,00
Lb = 7,76
δ  = 0,08
M  = 7,76
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 3,88

K85
X  = 581718,31
Y  = 4556555,47
γ  = 56,07
R  = 20,00
Lb = 17,61
δ  = 2,11
M  = 17,61
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 9,42

K86
X  = 581746,61
Y  = 4556564,70
γ  = 34,74
R  = 30,00
Lb = 16,37
δ  = 1,15
M  = 16,37
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 8,39

K87
X  = 581763,83
Y  = 4556584,74
γ  = 58,10
R  = 20,00
Lb = 18,25
δ  = 2,28
M  = 18,25
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 9,82

K88
X  = 581784,16
Y  = 4556583,69
γ  = 9,14
R  = 40,00
Lb = 5,74
δ  = 0,10
M  = 5,74
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 2,88

K89
X  = 581817,05
Y  = 4556586,72
γ  = 40,56
R  = 70,00
Lb = 44,60
δ  = 3,71
M  = 44,60
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 23,08

K90
X  = 581858,78
Y  = 4556561,41
γ  = 40,74
R  = 60,00
Lb = 38,39
δ  = 3,21
M  = 38,39
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 19,88

K91
X  = 581900,59
Y  = 4556565,38
γ  = 1,64
R  = 300,00
Lb = 7,73
δ  = 0,02
M  = 7,73
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 3,86

K92
X  = 581931,74
Y  = 4556567,53
γ  = 3,75
R  = 300,00
Lb = 17,67
δ  = 0,13
M  = 17,67
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 8,84

K93
X  = 581979,52
Y  = 4556573,67
γ  = 38,42
R  = 40,00
Lb = 24,14
δ  = 1,89
M  = 24,14
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 12,45

K94
X  = 582006,06
Y  = 4556597,48
γ  = 18,33
R  = 80,00
Lb = 23,03
δ  = 0,84
M  = 23,03
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 11,59

K95
X  = 582039,35
Y  = 4556613,29
γ  = 6,36
R  = 100,00
Lb = 9,98
δ  = 0,12
M  = 9,98
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 5,00

K96
X  = 582074,36
Y  = 4556634,43
γ  = 1,50
R  = 150,00
Lb = 3,54
δ  = 0,01
M  = 3,54
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 1,77

K97
X  = 582085,25
Y  = 4556640,66
γ  = 30,86
R  = 15,00
Lb = 7,27
δ  = 0,45
M  = 7,27
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 3,71

K98
X  = 582097,27
Y  = 4556641,08
γ  = 17,07
R  = 25,00
Lb = 6,70
δ  = 0,23
M  = 6,70
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 3,37

K99
X  = 582141,28
Y  = 4556654,84
γ  = 41,41
R  = 70,00
Lb = 45,53
δ  = 3,87
M  = 45,53
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 23,61

K100
X  = 582183,29
Y  = 4556639,63
γ  = 18,77
R  = 50,00
Lb = 14,74
δ  = 0,55
M  = 14,74
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 7,42

K101
X  = 582208,38
Y  = 4556620,86
γ  = 40,78
R  = 40,00
Lb = 25,63
δ  = 2,14
M  = 25,63
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 13,27

K102
X  = 582265,18
Y  = 4556620,77
γ  = 26,13
R  = 70,00
Lb = 28,73
δ  = 1,50
M  = 28,73
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 14,57

K103
X  = 582301,92
Y  = 4556636,69
γ  = 19,18
R  = 50,00
Lb = 15,06
δ  = 0,57
M  = 15,06
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 7,59

K104
X  = 582343,36
Y  = 4556641,17
γ  = 14,40
R  = 100,00
Lb = 22,62
δ  = 0,64
M  = 22,62
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 11,36

K105
X  = 582375,70
Y  = 4556637,32
γ  = 17,58
R  = 80,00
Lb = 22,10
δ  = 0,77
M  = 22,10
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 11,12

K106
X  = 582410,79
Y  = 4556642,90
γ  = 69,12
R  = 20,00
Lb = 21,71
δ  = 3,36
M  = 21,71
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 12,07

K107
X  = 582426,00
Y  = 4556687,69
γ  = 71,34
R  = 30,00
Lb = 33,62
δ  = 5,42
M  = 33,62
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 18,82

K108
X  = 582463,26
Y  = 4556692,29
γ  = 51,86
R  = 25,00
Lb = 20,36
δ  = 2,23
M  = 20,36
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 10,79

K109
X  = 582477,74
Y  = 4556712,01
γ  = 19,72
R  = 50,00
Lb = 15,49
δ  = 0,61
M  = 15,49
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 7,81

K110
X  = 582510,67
Y  = 4556735,90
γ  = 78,11
R  = 40,00
Lb = 49,08
δ  = 8,92
M  = 49,08
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 28,16

K111
X  = 582563,39
Y  = 4556699,89
γ  = 33,20
R  = 40,00
Lb = 20,86
δ  = 1,40
M  = 20,86
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 10,67

K112
X  = 582603,40
Y  = 4556696,77
γ  = 56,15
R  = 30,00
Lb = 26,46
δ  = 3,17
M  = 26,46
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 14,16

K113
X  = 582628,46
Y  = 4556660,99
γ  = 44,46
R  = 20,00
Lb = 13,97
δ  = 1,28
M  = 13,97
A  = 0,00
L  = 0,00
Dr = 0,00
T  = 7,28

KT
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